=F - (===
lokers:eom, Visit us at: www.lockers.com ockorelcm,

Designer Open Access Lockers — 30000 Series

Installation Instructions

Thank you for choosing the 30000 Series Designer Open Access Wood Lockers. We're confident that the quality and construction of
the lockers will prove to be a good investment. These instructions are intended to assist you in a typical wall-anchored or back-to-back
locker installation. Individual job conditions will dictate the fastener types and anchoring methods to wall, floor, or both.

Assembly Overview 5. Attach Optional Side Panels
The 30000 Series Wood Lockers are shipped factory-assembled Align panels flush with the locker front. The panel
with minimal on-site assembly required. You may need to: width will cover the 5/8” rear air space.
e  Connect lockers side-by-side 6. Install Metal Straps
e Attach optional side panels to exposed sides Once lockers are plumb and level, attach the bent or
e Anchor lockers to a wall or to each other flat metal straps to the top of the lockers and then to
the wall or adjoining lockers.
Included Hardware 7. Install Number Plate
1. (1) Metal wall strap (3-hole): For attaching the locker to a Peel the backing, align the plate with the recess,
wall or another locker. Bend as needed. and press firmly into place.
2. (4)#8 x 5/8” pan-head sheet metal screws: For securing the i )
metal strap to the top of the lockers. Installation lllustration

3. (2) 1-1/4" barrel nuts with screws: For fastening lockers
together side-by-side.

4. (2) 1-1/4” wood screws: For attaching optional side panels. i

5. (1) Adhesive-backed number plate. AL f

ATTACHMENT 4%
<
METAL

STRAP

_(4) #8 x 5/8" SCREWS

W, e

Installation Instructions
1. Remove Shipping Supports
Wooden slats attached to the locker base during shipping
should be removed. Tap them gently with a mallet and

. . SIDE PANEL
extract any remaining nails. __(OPTIONAL) Y ‘
2. Position and Level Lockers ™ il a ] -~
Place lockers in position and level them. The rear edge of @ || 2
the base should rest against the wall or another base (for (ARROWS) |~ | NUMBER

back-to-back installs). Allow for:
e 5/8” air space between the locker and wall
e 1-1/4” air space between lockers that are installed
back-to-back
3. Prepare Metal Straps
o Wallinstallation: Bend the strap as shown in the
illustration.
o Back-to-back installation: Leave the strap flat.
(Note: Straps will be installed in Step 5.)
4. Connect Lockers Side-by-Side
Use the provided barrel nuts and screws to bolt lockers .
together through the two pre-drilled holes near the front Nz
edge of the locker sides. These holes also accommodate ~ i
the optional side panels.

SALSBURY INDUSTRIES
18300 Central Avenue, Carson, CA 90746-4008

Phone: 1-800-562-5377 Int’l Phone: 323-846-6700
Fax: 1-800-562-5399 Int'l Fax: 323-846-6800
www.lockers.com engineering@lockers.com

Installation instructions are provided as general guidelines. It is advised that a professional installer be consulted. Salsbury Industries assumes no product assembly or installation liability.
Copyright © 2025 Salsbury Industries. All rights reserved. (05/16/2025)


http://www.lockers.com
http://www.lockers.com
http://www.lockers.com

	Button3: 
	Button2: 
	Button4: 


